68'L

i : Gh'e

\o.\\\\

0'G/001 HSN
JZLOLSTHHLS

QUOAOS|—420YdS

e

G867

g nogny
puajnojwn m>~§ wog 001/
Q
: \ \\llj = .Tx:...k:&&%&:ff ;
| 1L/sL1 ° w N > 2
e = 7 \\,.\
777 7 B \\«
9 nogny A S2/MT |~ 7
00 (g | [0/ 58 139 e
10-08 \ Y 17 7 oS v+
77— Z g nogny
7 o . S |5 mﬂeﬂ 7 IHON
m\\ & = 657+ iE |,q 7 #0-28
4% g ogny AT n: s
Z2 A éﬁam\zummu\ﬁz:o; -~ = ﬁ
7 Zl 7
Z 1018 . %v Soo/os ||| 7
5 L¥T d I 7 ¢ =oe=< ol = IS 7% .
25 : \ M-0v8 =t N 2 - -
x\m N N = o } % _
7 . 4 p— 127 q . ,
W Lo s e g P | S |
) * LH\ \ 7 . -
7 A
6+ 2 o
47 _ G nogyny 2
2 g ELEL
% \ £0-18
\\L\\\ .
Gt bl Yoo

3
ANN

Lt b ¢+

_>mx5wu

A

RO
NI
.

W\

| nogny

e

A VNGl

e @UAA




